GRAND TOTAL

Date Bids Due: 06/25/2024

HUB Status

WO/F **CMIT Solutions** Complete Printing & Publishing Capital Printing Bidder 2340 E. Trinity Mills Rd, #300 1501 W Panola Street 4001 Caven Road Address Carrollton, TX 75006 Carthage, TX 75633 Austin, TX 78744

STEPHEN F. AUSTIN STATE UNIVERSITY

NACOGDOCHES, TEXAS

21

Phone / Fax 214-390-2049 903-693-9306 512-922-1870 Description Qty & Unit Unit Price **Unit Price Unit Price** Item Extens Extens Extens VIEWBOOK Printing - 38 pages 45000 \$ each 2.05 92,250.00 0.841616 \$ 37,872.72 0.58400 26,280.00 with cover VIEWBOOK Mailing Service \$ 55,329.00 2 1 \$ 55,329.00 \$ 4,695.64 3293.00 3,293.00 lot 4695.64 (44,500 pieces) VIEWBOOK Shipping and Delivery \$ lot \$ 132.73 132.73 70.44 \$ 70.44 0.0000 \$ to SFA Campus (500 pieces) \$ 147,711.73 Total Total 42,638.80 Total 29,573.00 ROAD PIECE Printing - 12 inside \$ 54000 \$ 54,000.00 0.560898 \$ 30,288.48 0.3926 \$ 21,200.40 each 1.00 pages with a 6 page cover ROAD PIECE Shipping and Delivery to SFA Campus (54,000 \$ 1,384.00 601.750000 0.0000 \$ lot \$ 1,384.00 \$ 601.75 pieces) **Total** 55,384.00 Total 30,890.23 Total 21,200.40 8 9 10 11 12 13 14 15 16 17 18 19 20

> \$ 203,095.73 73,529.03 50,773.40 **TERMS** F.O.B. **DELIVERY**

I certify that the above included all firms that have been contacted for bids, and their replies are exactly as stated. Reason for award to other than low bidder:

STEPHEN F. AUSTIN

Date Bids Due: 06/25/2024

HUB Status Bidder

Address

Finishing & Mailing Center LLC 2151 W. Commerce Street

Dallas, TX 75212-5015

Jarvis Press an RR Donnelley Company 9112 Viscount Row Dallas, TX 75247

Newman Printing Co., Inc 1300 E 29th Street Bryan, TX 77802

DV/M

NACOGDOCHES, TEXAS

STATE UNIVERSITY

Phone / Fax 214-869-3767 972-345-0963

979-779-7700

Item	Description	Qty & Unit		Unit Price		Extens	Unit Price		Extens	Unit Price		Extens
1	VIEWBOOK Printing - 38 pages with cover	45000	each	0.765000	\$	34,425.00	0.8365	\$	37,642.00	0.72629	\$	32,683.00
2	VIEWBOOK Mailing Service (44,500 pieces)	1	lot	5425.00	\$	5,425.00	3673.50	\$	3,673.50	4922.50	\$	4,922.50
3	VIEWBOOK Shipping and Delivery to SFA Campus (500 pieces)	1	lot	125.00	\$	125.00	127.00	\$	127.00	0.00000	\$	-
				Total	\$	39,975.00	Total	\$	41,442.50	Total	\$	37,605.50
											+	
					 						+	
4	ROAD PIECE Printing - 12 inside pages with a 6 page cover	54000	each	0.409000	\$	22,086.00	0.89230	\$	48,184.00	0.50024	\$	27,013.00
6	ROAD PIECE Shipping and Delivery to SFA Campus (54,000 pieces)	1	lot	1120.00	\$	1,120.00	783.00000	\$	783.00	0.00000	\$	-
7				Total	\$	23,206.00	Total	\$	48,967.00	Total	\$	27,013.00
8												
9												
10 11												
12												
13											1	
14												
15												
16												
17												
18												
19					-							
20					-						1	
<u> </u>	GRAND TOTAL				\$	63,181.00		\$	90,409.50		\$	64,618.49
	· · · · · · · · · · · · · · · · · · ·	TERMS			_Ψ	30,131.00		Ψ	55,455.56		Ψ	3-,010.73
		F.O.B.	ļ									
	C	Y										

I continue the set of
I certify that the above included all firms that have been contacted for bids, and their replies are exactly as stated.
Reason for award to other than low bidder:

Date Bids Due: 06/25/2024

HUB Status

STEPHEN F. AUSTIN STATE UNIVERSITY

Bidder Address

ONETOUCHPOINT	Progress Printing Company, Inc	Richmond Printing				
8410B Tuscany Way	2677 Waterlick Road	5825 Schumcher Lane				
Austin, TX 78754	Lynchburg, VA 24502	Houston, TX 77057				
E40, 400, COE0	404 000 7500	740 50 0000				

NACOGDOCHES, TEXAS

Phone / Fax 512-483-6259 434-832-7520 713-52-0800

Item	Description	Qty & Unit		Unit Price	Extens	Unit Price	Extens		Unit Price	Extens
1	VIEWBOOK Printing - 38 pages with cover	45000	each	0.6677778	\$ 30,050.00	\$ 0.70	\$ 31,500.00	\$	1.02	\$ 46,024.00
2	VIEWBOOK Mailing Service (44,500 pieces)	1	lot	10000.000000	\$ 10,000.00	\$ 1,602.00	\$ 1,602.00	\$	3,675.00	\$ 3,675.00
3	VIEWBOOK Shipping and Delivery to SFA Campus (500 pieces)	1	lot	25.000000	\$ 25.00	\$ 170.00	\$ 170.00	\$	250.00	\$ 250.00
				Total	\$ 40,075.00	Total	\$ 33,272.00		Total	\$ 49,949.00
4	ROAD PIECE Printing - 12 inside pages with a 6 page cover	54000	each	0.441019	\$ 23,815.00	\$ 0.52	\$ 28,080.00	\$	0.44	\$ 23,688.00
6	ROAD PIECE Shipping and Delivery to SFA Campus (54,000 pieces)	1	lot	500.000000	\$ 500.00	\$ 1,404.00	\$ 1,404.00	\$	1,100.00	\$ 1,100.00
7	•			Total	\$ 24,315.00	Total	\$ 29,484.00		Total	\$ 24,788.00
8										
9										
10										
11										
12										
13										
14										
15										
16										
17										
18										
19										
20										
21										
	GRAND TOTAL				\$ 64,390.00		\$ 62,756.00			\$ 74,737.00
		TERMS		<u>'</u>				L		
		F.O.B.								
	D	ELIVER	Y							

I certify that the above included all firms that have been con	ntacted for bids, and their	replies are exactly as stated.
Peacen for award to other than low hidder:		

In Brail

Signature

Date Bids Due: 06/25/2024

STEPHEN F. AUSTIN STATE UNIVERSITY

Reason for award to other than low bidder:

NACOGDOCHES, TEXAS

HUB Status

Bidder

The 411 Agency 12021 Currency Circle Address

I certify that the above included all firms that have been contacted for bids, and their replies are exactly as stated.

Hudson Printing & Graphic Design

Signature

611 S. Mobberly Ave. Longview, TX 75607

Forney, TX 75126 Phone / Fax 214-458-8011

903-758-1773

Item	Description	Qty & Unit		l	Jnit Price	Extens		Unit Price	Extens	Unit Price	Extens
1	VIEWBOOK Printing - 38 pages with cover	45000		\$	0.71	\$	31,950.00	•	No Bid		
2	VIEWBOOK Mailing Service (44,500 pieces)	1	lot	\$	8,010.00	\$	8,010.00				
3	VIEWBOOK Shipping and Delivery to SFA Campus (500 pieces)	1	lot	\$	250.00	\$	250.00				
					Total	\$	40,210.00				
							·				
4	ROAD PIECE Printing - 12 inside pages with a 6 page cover	54000	each	\$	0.51	\$	27,540.00				
	ROAD PIECE Shipping and										
6	Delivery to SFA Campus (54,000 pieces)	1	lot	\$	1,080.00	\$	1,080.00				
7	•				Total	\$	28,620.00				
8											
9											
10											
11											
12											
13											
14											
15											
16											
17											
18											
19											
20											
21											
GRAND TOTAL						\$	68,830.00		\$ -		\$ -
TERMS								<u>'</u>			
F.O.B.											
DELIVERY											